> A
A & 0l & AF 2 E A A
202298 & =04 LBHSIH DI Z &3 F M
L HSIELEE-E
Hu: DY BFIM D
ool BEIM B 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl=stZ ¥ M 26,136,969 16,411,940 9,725,029
= 12,279,300
< 13,752,669
£ 105,000
S $ZEH 2E 4,824,676 1,244,086 3,580,590
= 3,220,000
< 1,604,676
S g4 Lt 4,824,676 1,244,086 3,580,590
= 3,220,000
= 1,604,676
SHZEM Y 4 59,396 61,086 21,690
201 et 18,176 25,176 A7,000
01 At 22l 18,176 18,176 0
OFMIzZ¢ds s 294 18,176,000 18,176
203 YR =&l 34,020 35,910 A 1,890
03 AIMZ=XH R =AY 34,020 35,910 A 1,890
OANMEZLR=AY| 34,020
- 2E ANMARFX 10,800, 000 10,800
—SF oA AIMFZ 11,250,000 11,250
-23Ey g2 8,550,000 8,550
—ES3EM HRFA 3,420,000 3,420
310 2201 & 7,200 0 7,200
02 2HFE= 7,200 0 7,200
OO0lI2¢al0l(ICLEI) 3l 7,200,000 7,200
SZUEESALY 50,000 50,000 0
= 35,000
< 15,000
307 21201 A 50,000 50,000 0
= 35,000
< 15,000
02 QIAHFAAHEX 50,000 50,000 0
Ot u=23tAtY 50,000, 000 50,000
= 35,000
< 15,000
gIEH2AE AN X WF 21,780 14,200 7,580
201 Let24E] 12,780 14,200 A 1,420
03 A2 S HI 12,780 14,200 A 1,420
OgtZdzg diAm d g =48 12,780,000 12,780
308 X EHH SOl A 9,000 0 9,000
113/ 2SoHUHSZAEEALS I 9,000 0 9,000
Os=s0t 4 gZ&seld |4 9,000,000 9,000




SN JBEYZHDY
Hu: DY BFIM D
ool BEIM B 2 (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEENSIsL2dgds N 583,000 453,800 129,200
307 gl2tol & 583,000 453,800 129,200
02 It M AHE L 260,000 185,000 75,000
OFENBIsLEE A3 ALHIXE
260,000, 000 260,000
03 QIZtHHHE2HEHEX 323,000 268,800 54,200
OFENBIIsLdgds 2EH XA
323,000, 000 323,000
ANEsB3usdy 29 500,000 550,000 250,000
= 150,000
= 350,000
307 21201 A 300,000 300,000 0
= 150,000
< 150,000
02 IZtE S AHE L 300,000 300,000 0
OXgstdusdH X2 (&Y 300,000, 000 300,000
= 150,000
< 150,000
308 XXM SOl A 200,000 200,000 0
01 HIXNHHBNEES 200,000 200,000 0
OXNgeZ sy K& 200,000, 000 200,000
JI=H3NsHH 29 X& 70,000 70,000 0
= 35,000
< 35,000
308 XXIEHHSOIA 70,000 70,000 0
= 35,000
< 35,000
01 AXHHILEES 70,000 70,000 0
OJI=zgstusdy 29X 70,000, 000 70,000
= 35,000
S 35,000
ot &3du=s T2 29 40,500 45,000 A 4,500
308 MtXIEHMSOIH 40,500 45,000 A 4,500
01 HXNHHNBHEES 40,500 45,000 A 4,500
OXotite &Zus T2 29
40,500,000 40,500
Y 298 EBASEHASE =4 3,500,000 0 3,500,000
= 3,000,000
< 500,000
401 AIEHI L 201 3,500,000 0 3,500,000
= 3,000,000
< 500,000
01 A& Bl 3,342,500 0 3,342,500




L HSIELEE-E
g 3 33 FE
ool BEIM B 2 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZg 298 oizgosd 24
3,342,500, 000 3,342,500
2 2,842,500
< 500,000
02 Zeltl 150,000 0 150,000
OfY B BASYALR T4
150,000, 000 150,000
= 150,000
03 Al S THHI 7,500 0 7,500
Ozd 298 BAsgA+=J =4 7,500,000 7,500
= 7,500
Jl=Hs HHFZA 6,611,450 2,220,112 4,391,338
= 5,003,300
< 1,608,150
Jl=Hs e & AHE 5,974,450 2,220,112 3,754,338
2 4,483,300
< 1,491,150
HIAEEE AIHE 2401A MHAHE(Z) 72,000 72,000 0
= 36,000
< 36,000
307 glz2tol & 72,000 72,000 0
= 36,000
< 36,000
02 HAHFHAANGEEE 72,000 72,000 0
OHIASEEZ AIYEE 24ItA MHHEE(Z)
72,000,000 72,000
= 36,000
< 36,000
EBFAZOIER JIYJID QHEYE X2 154,700 209,300 A 54,600
=2 119,000
< 35,700
308 XXM SO A 154,700 209, 300 A54,600
= 119,000
< 35,700
01 IXNSHHBNEES 154,700 209, 300 A 54,600
OEAZOERN It CIHEE X2
154,700,000 154,700
= 119,000
< 35,700
HIAGEE AFHE 240tA NHASE (AZE A 128,700 128,700 0
= 99,000
< 29,700
308 XXM SO0l A 128,700 128,700 0
= 99,000
< 29,700
01 IXNHHBNEES 128,700 128,700 0




L HSIELEE-E
Hm: J|=HE UEA
Sl DSBS (S ¥ XS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIAEEZ AISE 24ItA MHHLE (A2
) 128,700,000 128,700
= 99,000
< 29,700
Jl=dst g =d 17,000 17,000 0
201 £B-2%H| 17,000 17,000 0
01 At 22l 17,000 17,000 0
OJlzdHs Hesge =4 17,000, 000 17,000
JZ=HsES &8 25,500 29,750 N4,250
201 Let24E] 25,500 29,750 N4,250
01 At 2t 2l 25,500 29,750 N 4,250
OJIzdslis 88 & 25,500,000 25,500
EASE QAR S 28 70,000 0 70,000
201 Let2d] 70,000 0 70,000
01 At 22l 70,000 0 70,000
OEAsE Ead 88 70,000, 000 70,000
&)z B2 € U= 21,250 21,250 0
307 21201 A 21,250 21,250 0
02 QB AAHE X 21,250 21,250 0
OXFIIz E2 ¢ us 21,250
s EAZER 2F 4,100 8,305 N4,205
= 4,100
308 AHAIEHHSOIA 4,100 8,305 A 4,205
= 4,100
01 HIXNHHBMNEELS 4,100 8,305 N4,205
OXNS HALOERHN 29 4,100,000 4,100
= 4,100
JI=Hst 2 MII7 Al 26,000 26,000 0
310 2201 & 26,000 26,000 0
02 ZHFE= 26,000 26,000 0
O (Under 2 Coalition)® & ™3l
26,000,000 26,000
Moot D283 ARL S0 255,000 313,469 A 58,469
306 ¢ 2 255,000 313,469 A 58,469
01 &3 255,000 313,469 A 58,469
OMolieHl| S &8ZH A EH3 255,000,000 255,000
EANE J2HS e F 140,000 140,000 0
308 XXM SOIA 140,000 140,000 0
M3 2SoHetE & XA E A HI 140,000 140,000 0




L HSIELEE-E
Hm: J|=HE UEA
Sl DSBS (S ¥ XS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OE4AE J22J e = MAH A Nz
140,000, 000 140,000
Jl=8st HAAHE XA 195,000 728,000 A 533,000
= 150,000
< 45,000
403 MHXSHHSA=0l& 195,000 728,000 A 533,000
= 150,000
< 45,000
01 XM A=LE L 195,000 728,000 A 533,000
OJIZFHa HAAHNE XN ALY 195,000, 000 195,000
= 150,000
< 45,000
AOLE Ol & Al 4,565,200 0 4,565,200
= 4,075,200
< 490,000
403 XSS A0l & 4,565,200 0 4,565,200
= 4,075,200
< 490,000
01 XM A=2E X 4,565,200 0 4,565,200
OAGE d8l& Al =4 4,565,200,000 4,565,200
= 4,075,200
< 490,000
)l s0IH =4 300,000 0 300,000
401 AIEHI L 201 300,000 0 300,000
01 A& HI 300,000 0 300,000
OJIZ=018 ZdAY 300,000, 000 300,000
S$HASE XNFAS 620,000 0 620,000
= 520,000
< 100,000
EBASE XA (2H) 200,000 0 200,000
= 100,000
< 100,000
307 gl2tol & 200,000 0 200,000
= 100,000
< 100,000
02 It M AHE L 200,000 0 200,000
OHASHINAEH 29 X& 200,000, 000 200,000
= 100,000
< 100,000
EBASE NIAAMG(AZ) 420,000 0 420,000
= 420,000
308 XX EHH SOl 420,000 0 420,000
= 420,000
01 IXNHHBNEES 420,000 0 420,000




L HSIELEE-E
M J|sus (M
Sl BHAZE XA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OJ=XNXH I8 HsHE =& NE
420,000,000 420,000
= 420,000
SHYE EBIAZERAAG 29 17,000 0 17,000
SHHIT BASE /ARG M g 17,000 0 17,000
201 et d| 17,000 0 17,000
01 AFR 2t 2| bl 17,000 0 17,000
O EBAZEHARS EH =22
17,000,000 17,000
Aostd 85 14,621,334 12,884,468 1,736,866
= 4,056,000
=} 10,460,334
£ 105,000
Aostd 85 14,621,334 12,884,468 1,736,866
= 4,056,000
=} 10,460,334
= 105,000
A4 EH HI Al HI A K| 2 K H 2F 542,300 411,400 130,900
= 319,000
& 223,300
308 AMXISHHMSOIA 542,300 411,400 130,900
= 319,000
& 223,300
01 IXHHIMNEXTS 542,300 411,400 130,900
OMENHIAMBIAXNIZHIH LS S8 EMAMA KX
23 542,300,000 542,300
= 319,000
o=} 223,300
OS2 Iloloe ALY 312,000 458,300 A 146,300
= 240,000
& 72,000
403 XX SHHS K20 & 312,000 458,300 A 146,300
= 240,000
= 72,000
01 MXHHNE2E = 312,000 458,300 A 146,300
O0tMEs=2=2 01st sIol WeEAlE XA
312,000,000 312,000
= 240,000
= 72,000
S OfMsEsE 2 H2HEH 29 X 800,000 606,667 193,333
= 240,000
& 560,000
307 giztol A 800,000 606,667 193,333
= 240,000
& 560,000

(o))




%o
K T A_
K0
R0 RO
o
o+ 3J

_—

o
iy

7o
[
)

™
[42] o o o
[ep] o o S ~— — —
o - < | < ~ ~ |~
oo |8 R I A R e g81°1° =E s To
KIo - N1 S S | S o DNEIE O
El 4| << « S |g 3 SHES
= N P S |=
% o
© S m S o129 |2
© I NEREEY 21218
o [e0] © - - . 0 | o o | o o
WH3r |© © P clele S = = ST o
™ — = |- N~ Y o =) (= S [ S o | o
W< < s |e S|S|3S
RS ® @© @© 218 m
o o o o
o o o
g 888|=2|= s8|3|8|8 28 g|/3/8|3
S o o ol o N N R ~ S | o | m o | 9
S ggg|°|°|® ~ |23 SR 8181818 2lsle glsglggls ggls
al © |© - QN ™~ s s 818 8|8 8|8 8 8|8 818 81818
8l SN ~N|lo|lo oS > Qe Qe @ efe e S 81818 3
< N LIS 8|8 83 © < | v 12 2122 S
— O | © L o o o - -
= ®|o | |8 « 9|9 9
nr W
3 o
S S 88 .8 S LN i
or S S S S e S =
< = S = o < S 3 o
Y =g % QAN R @ 3 S S S 8
) © - Ve & w0 © S S ; <
X 30 o . M~ R< o o S 8 ar g
0H Al o B ~ < _ © S 0 S
mm _ of K = = ] o © < RIs}
=< 4 H = = R = - ©
o* < = o = = 0 3
= K4 0 o g W C = - 0 _
< - =) ~ 10 S = Ul R0 : M_H_
o o 20 ol N - 10 A ok R0 iyt |T
~ "o = "o i R0 &) — = 100 o
N FR - il wmo uws |2 ™ N - - =
o} H S I- K oK KI ™ Rl = = " iz 0 o X il
= |a ° o H =l o VR T e @ | m 3 & ~
ok | B el o M RO oW mow | R w2 & 0 & & s
ni R P = e mm mm Em 0| 5 U ETN_ Hﬂ | o S NI N = i
0 Tzl w2 | = < 2 X = = s _ X
- | LR SIRIR S 2 =3 I A R = e = A = ;
G sl o | oo s S o N S 2 .= L
o " = ||~ S T ul ful e PO = |3 |=x = = = n - 5|3 & I
RO |al O A T Rz & F & |o|& nE oo s |a (o |® DO 0 R R N
0 N = o R |k O o) | I K = |z = o aJ o) Ro Y i o (8r &)
o 30 |~ O O x| al|a K |K K = - -0 b |/ <= =
x 5|8 Ww|lg s R |aljal O ~lx o " R R = |5 = o
* 8 2|8 |° Wy | - m |k RO |® B (0 OF | F |+
K = 3|8 |° 3 |5 gl o - ® |ol|< O3 |38 O
- < = S S S| — | =
= w ™ — o |o =S
n.Mo w N ~ o
20




SN JBEYZHDY
dM: GAHEE 25
& MEd B (cho &)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ANASHAEAN - 01 SAE L (& HH)(MBAY) 2,623,160 5,150,340 A2,527,180
403 UHXISHHSA=0l& 2,623,160 5,150,340 22,527,180
01 XM= E L 2,623,160 5,150,340 A2,527,180
OFoh LI NHASZEN OlSAE EXAMS
2,623, 160,000 2,623,160
MEfH e M2 EXALY 260,000 301,000 241,000
= 200,000
< 60,000
308 XXl EHH SOl A 260,000 301,000 A 41,000
= 200,000
= 60,000
01 AXSGHBLELS 260,000 301,000 241,000
OMEfH wE M2 EX A 260,000, 000 260,000
= 200,000
< 60,000
SANMENEAMN B2 H (MBAIY ) 506,115 504,000 2,115
403 Ut SHHS =0l & 506,115 504,000 2,115
01 HXSHMA=E X 506,115 504,000 2,115
O&ota el MHAOY ZHALY 506,115,000 506,115
NASBEN - 0| EANE =4 1,235,000 65,000 1,170,000
(ME ZIMEIMAIZ |22 ) (MSAIY)
403 MHXSHHSA=0l& 1,235,000 65,000 1,170,000
01 X SHHMA=LE L 1,235,000 65,000 1,170,000
ONM&E ZFIMEHAAZ 2I22E
1,235,000, 000 1,235,000
NASABAEN - 0| EANE =4 1,690,000 195,000 1,495,000
(S& 222 MEESAE X)) (HSAY)
403 MtXISHH S =0l & 1,690,000 195,000 1,495,000
01 XM A2E X 1,690,000 195,000 1,495,000
sS4 Yo HEeHEEAIE £X
1,690,000, 000 1,690,000
SHEIE ME S S2AY 3,014,414 338,571 2,675,843
= 2,671,000
< 343,414
403 UtXSHHSA=0l& 3,014,414 338,571 2,675,843
= 2,671,000
< 343,414
01 X SHMA=E X 3,014,414 338,571 2,675,843
OO 2 MHE(I=IY) =2
3,014,414,000 3,014,414
= 2,671,000
< 343,414
LEMSA MHMEAE ZHAG(HEAY) 312,156 100,000 212,156




L HSIELEE-E
HHM: JoHEsHd B
& MEd B (cho &)
4
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
403 XX SHHS K20 & 312,156 100,000 212,156
01 AIXISHHMA=Z2E X 312,156 100,000 212,156
OENLA MEHMEAAE =4 312, 156,000 312,156
S OfNMEsS 2 HelHE X8 XS 600,000 0 600,000
= 300,000
& 300,000
402 SI2v X0l & 600,000 0 600,000
= 300,000
& 300,000
02 BIZtXIEANYEX(0OIETHH) 600,000 0 600,000
OsY &9 s34y x4l X3
600,000,000 600,000
= 300,000
= 300,000
MEHXIE (3CH) HEXL 60,000 0 60,000
403 XX SHHS K20 & 60,000 0 60,000
01 XIS A=Z2E X 60,000 0 60,000
OMEF RIS (3EHH) MAXH 60,000,000 60,000
ANHstAEN - 0|2A4E ZE(WES Mgz o3 1,885,000 0 1,885,000
S 4X)(HetAY)
403 XX SHHS K20 & 1,885,000 0 1,885,000
01 RFXI S X S 1,885,000 0 1,885,000
OXES MEgHZE 032 S &X
1,885,000, 000 1,885,000
KNHASHAEA - 0|SAE (2 MS24)(HEA 325,000 0 325,000
o)
403 XX SHHS K 20| & 325,000 0 325,000
01 AAXHHANE2E = 325,000 0 325,000
OMESSE JHEtdEd 0|22 Al &1
325,000,000 325,000
BelgZ e Oelsd AlY 150,000 0 150,000
& 45,000
£ 105,000
207 A3 & 150,000 0 150,000
& 45,000
£ 105,000
01 A 150,000 0 150,000
OM&E Bt2ZE DelwEY AMY U EYEd=x
AN HSEE =& 150,000,000 150,000
& 45,000
£ 105,000
FOENHE MEHEE 2LUHE 15,000 0 15,000
308 XX EHSOIA 15,000 0 15,000
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